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 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 15 \¥²y¾ 

h²¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc 

\tgqWHp Yy `t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 36 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H  

(grqcAd ²¥¾^c) kcvc qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & 

\of²¾ \§Wc geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH 

\orqIApcXr Hyed \of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc 

\tgqWHp qeM H}Br E¨Wc ²¾hr qdIVJy & 

SET-4 
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g¥HqdW \orqIAp – II 

SUMMATIVE ASSESSMENT – II 

qeqJAp²¾ 
(Hyed ²y¾Wohr²¾ \orqIApcXrAp£ dBr) 

(\¥Op^r EdXp) 

SCIENCE 

(FOR BLIND CANDIDATES ONLY) 

(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry \vc²¾ A¥H : 90 

Time allowed : 3 hours Maximum Marks : 90 

  Please check that this question paper contains 15 printed pages. 

  Code number given on the right hand side of the question paper 

should be written on the title page of the answer-book by the 

candidate. 

  Please check that this question paper contains 36 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The 

question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the question paper only and will 

not write any answer on the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) qBg \of²¾ \Wo ²¥¾v Y} _pJp£,  _pJ A AWy _pJ ^ qeM 
e¥qTAp£ qJAp h± & Ap\²y¾ Y}hp£ _pJp£ Yy \of²¾p£ Yy E¨Wc YyVy 
h²¾ & 

(ii) gpcy \of²¾ hd Hc²y¾ kcvcr h²¾ & 

(iii) gpcy \of²¾ \Wo qeM qHgy er \of²¾ qeM H}Br M}V ²¾hs h± & 

(iv) Wtgs _pJ A AWy _pJ ^ Yy gpcy \of²¾p£ Yy E¨Wc e§I} e§I 
qdIVy h²¾ & 

(v) _pJ A Yy \of²¾ g¥qIAp 1 W~ 3 Yy \of²¾ qBH A¥H Yy h²¾ & 
qB²¾ªp£ Yy E¨Wc qBH f^Y Op£ qBH epH qeM YyVy h²¾ & 

(vi) _pJ A Yy \of²¾ g¥qIAp 4 W~ 6 Yy \of²¾ Y} A¥Hp£ Yy h²¾ & 
qB²¾ªp£ Yy E¨Wc dJ_J 30 f^Yp£ qeM YyVy h²¾ & 

(vii) _pJ A Yy \of²¾ g¥qIAp 7 W~ 18 Yy \of²¾ qW¥²¾ A¥Hp£ Yy  
h²¾ & qB²¾ªp£ Yy E¨Wc dJ_J 50 f^Yp£ qeM YyVy h²¾ & 

(viii) _pJ A Yy \of²¾ g¥qIAp 19 W~ 24 Yy \of²¾ \¥O A¥Hp£ Yy  
h²¾ & qB²¾ªp£ Yy E¨Wc dJ_J 70 f^Yp£ qeM YyVy h²¾ & 

(ix) _pJ ^ Yy \of²¾ g¥qIAp 25 W~ 33 WH Yy \of²¾ \oa}JpW`H 
H¡fd Wy AZpqcW ^ht qeHd\r \of²¾ h²¾ & hc qBH \of²¾ 
qBH A¥H Yp h± & qY§Wy h}By Mpc qeHd\p£ qe§M Wtgs Hyed 
qB§H g_ W~ UtHep£ qeHd\ MtV²¾p h± & 

(x) _pJ ^ Yy \of²¾ g¥qIAp 34 W~ 36 WH Yy \of²¾ \oa}JpW`H 
H¡fd Wy AZpqcW Y} A¥Hp£ Yy \of²¾ h²¾ & qB²¾ªp£ Yy E¨Wc 
g¥Iy\ qeM qYG &  
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_pJ A 

1. Eg A±dHy²¾ Yp ²¾p` AWy gvWc qd§I} qOg qeM qW¥²¾ Hpc^²¾ 

\c`pVv ht¥Yy h²¾ & 1 

2. `²¾®§Ip£ qeM \Wpdv (ftnpVv H}f) Yy Y} H¥̀ p£ Yr gvMr ^VpG & 1 

3. hyS¾ qY§Wr JBr Aphpc dmr `²§¾tI ²¥¾v 12.5 J FcOp E\d^Z h± & 

\¡qYAp£ ²y¾ \oHpf W~ qHW²¾r FcOp \op\W HrWr gr ? 1 

 \¡Yy   _yT¾  `²§¾tI  

4. g`Wd Yc\V Yr ³}Hg Yvcr qdI} & g`Wd, AeWd Op£ E¨Wd 

Yc\Vp£ qeM~ qHgYp YqcfRr IyWc e§Tp ht¥Yp h± AWy Eg \oHpc Yy 

Yc\V Yr ecW~ qHXy HrWr Op£Yr h± ? 2 

5. \pVr ²¥¾v _~-Od Yy cv\ qeM gtcqIAV Hc²¾ Yy qHgy Mpc dp_p£ Yr 

gvMr ^VpG & 2 

6. qM\H} A¥Y}d²¾ ²y¾ gXp²¾H d}Hp£ AWy epWpec²¾ ²¥¾v qHey ³pqBYp  

HrWp ? qBg A¥Y}d²¾ ²¥¾v qBh ²¾p` qHE¤ qYWp qJAp ? 2 
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7. qHgy \cI²¾dr qOg qeM AVvgvWc C2H6O Yp H}Br Hpc^²¾ a¡qJH 

‘X’ _qcAp h±, qeM g}TrA` ZpW Yp qBH N}Rp RtHmp \pEV Wy 

WyO ^tm^tmphR Yy ²¾pd H}Br J±g ‘Y’ q²¾HdYr qYIpBr qYWr & 

\cI²¾dr Yy `v¥h E\c ^dYr h}Br Wrdr qdApEV Wy Eh J±g 

‘\p\’ Aepk Yy ²¾pd ^d JBr &  ‘X’ AWy ‘Y’ ²¥¾v \NpV} AWy h}V 

epdr qHqcAp Yr cgpqBqVH g`rHcV qd§I} & a}qJH ‘X’ ²¥¾v d¥KVy 

H2SO4 Yr eZycy `pWcp Yy ²¾pd 443 K E\c Jc` Hc²¾ ^V²¾ 

epdy EW\pY Yp ²¾p` AWy g¥cM²¾p qd§I} & 3 

8. OY~ BrXy²}¾d g¥KVy H2SO4 Yr h~Y qeM BrXy²}¾qBH A±qgT Yy ²¾pd 

qHqcAp HcYp h±, Wp£ q`S¾r Itf^v Yp H}Br a}qJH (EW\pY) ^VYp 

h± & 

(a) q`S¾r Itf^v epdy qB²¾ªp£ Hpc^²¾ a}qJHp£ Yy ecJ Yp ²¾p` qd§I} 

qO²¾ªp£ qeM qB²¾ªp£ ²¥¾v ecJrqnW qHWp Op£Yp h± & 

(b) qBg qHqcAp Yp cgpqBqVH g`rHcV qd§I} & 

(c) qBg qHqcAp qeM ^V²¾ epdy EW\pY Yp Ap` (gZpc²¾) 

²¾p` qd§I} & 

(d) Hr ht¥Yp h± OY~ qBh EW\pY g}TrA` hpqBTcpHgpBrT Yy 

²¾pd qHqcAp HcYp h± ? qBg qHqcAp Yp gZpc²¾ ²¾p`  

qd§I} & 3 
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9. \c`pVv A¥H 17 Yy qHgy W§W Yp EYphcV d|Yy h}By qeApqIAp Hc} 

qH (i) qHgy W§W Yy \c`pVv Yy qBd±HRop²¾r WcWr^ (qeq²¾Apg) Yy 

AZpc E\c ApZtq²¾H ApecWr gpc²¾r qeM EgYr gqXWr qHez 

\Wp HrWr Op£Yr h±, AWy (ii) qBgYy \c`pVv A¥H Yy AZpc E\c 

qHgy W§W Yr g¥a}OHWp qHez q²¾cZpcW HrWr Op£Yr h± ? 3 

10. H}Br W§W ‘X’ ApZtq²¾H ApecWr gpcVr Yy \±hdy Jct\ AWy Wrgcy 

\rcrAT qeM gqXW h± & ‘X’ ²¾pd g¥^¥ZW hyS¾ qd§Iy JBy \of²¾p£ Yy 

Hpc²¾ gqhW E¨Wc qYG : 3 

(a) qBg W§W Yp \c`pVv A¥H qd§I} & 

(b) Hr qBh W§W ZpW h± Op£ AZpW ? 

(c) ‘X’ Yr ‘Y’ (\c`pVv A¥H 16) Yy ²¾pd qHqcAp cphs ^Vy 

a¡qJH Yp gvWc qd§I} & 

11. \oOV²¾ Hr h± ? g\rqfg Yr eg~ ²¥¾v gqXcWp YyV qeM \oOV²¾ qHez 

ghpqBWp HcYp h± ? 3 

12. \oOV²¾¾ Yy g¥Yc_ qeM qeI¥T²¾ AWy I¥T²¾ Yy Ycq`Ap²¾ Y} eIyqeAp£ 

Yp ecV²¾ Hc} & hc qBH Yp qBH qBH EYphcV er qYG & 3 
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13. HpqBH \oOV²¾ Hr h± ? qBg Yy Y} dp_p£ Yr gvMr ^VpG & 3 

14. \XJR (fossils) qHez ^VYy h²¾ ? \XJRp£ Yr E`c q²¾cZpc²¾ Hc²¾ 

YrAp£ Y} qeZrAp£ Yr gvMr ^VpG & \XJRp£ Yy AqZA±²¾ Yr `hW§Wp 

Yp ecV²¾ Hc} & 3 

15. `zTd ²y¾ \oa}Jp£ ²¾pd qHez qBh YcgpqBAp qH Y} d§NVp Yp 

qecpgW A²¾®gpc h}Vp qBH Yvgcy W~ geW¥Wc h± & 3 

16. qHgy Yc\V cphs ^Vy \oqWq^¥^ Yp eTYcf²¾ – 1 h± & qBg gvM²¾p 

²¾pd Otmy hyS¾ qdIy hc qBH \of²¾ Yp Hpc²¾ gqhW E¨Wc qYG :  

(a) qBg Yc\V Yr \cqHcWr qd§I} & 

(b) OyHc \oqWq^¥^ Yr Yc\V W~ Yvcr 40 g±.`r. h±, Wp£ q^¥^ qH§Xy 

gqXW h± ? 

(c) OyHc q^¥^ ²¥¾v Yc\V Yy ed 10 g±.`r. qIgHpqBAp OpBy, Wp£ 

\oqWq^¥^ qH§Xy ^VyJp ? 3 

17. qeApqIAp Hc} qH gp³ AHpf (Ag`p²¾) ²¾rdp AWy gvcO Yy 

Nt\V g`z dpdr Wy qHE¤ \oWrW ht¥Yp h± ? 3 
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18. WthpTy gHvd Yy ‘BrH} Hd^’ Yy AqZAp\H ²y¾ gHvd Yy \oZp²¾ 

AqZAp\H ²¥¾v qBh ^y²¾Wr HrWr qH gHvd Yr Hy²¾Rr²¾ Yy ²¾kYrH Y} 

e§I} eI c¥Jp£, hcy AWy ²¾rdy c¥Jp£ YrAp£ Hvmp \yRrAp£ cIep  

qYG & qB²¾ªp£ qeM~ hcy c¥J Yr Hvmp \yRr Hy²¾Rr²¾ Yy O±e q²¾`²¾rHcV 

a}J qeAcXp£ AWy ²¾rdy c¥J Yr Hvmp \yRr AO±e q²¾`²¾rHcV a}J 

qeAcXp£ Yy dBr h}ey & 

(a) HtP egWvAp£ ²¥¾v O±eq²¾`²¾rHcV a}J ecJ qeM qHE¤ cqIAp 

qJAp h± ? 

(b) H±²¾Rr²¾ qeM Ip Hy qeqYApcXrAp£ cphs gtRy OpVy epdy 

qeAcX \YpcXp£ qeM~ qHgy qBH O±eq²¾`²¾rHcV a}J AWy 

qBH AO±eq²¾`²¾rHcV a}J qeAcX \YpcX Yr gvMr ^VpG & 

(c) AOyhy H}Br Y} gtPp qYG qO²¾ªp£ cphs Wtgr AO±eq²¾`²¾rHcV 

a}J qeAcXp£ ²¥¾v KR W~ KR Hc gHYy h²¾ & 1+1+1 

19. gp^tV AWy qTRycOzR (A\_pcOHp£) Yy AVvAp£ qeM A¥Wc g\fR 

Hc} & gp^tVp£ Yr g³pBr \oqHqcAp Yp ecV²¾ Hc} & gp^tV HS}¾c 

Od Yy ²¾pd PJ ²¾hs ^Vp£Yy & qHE¤ ? qTRycOzR Yy eZycy \oa}J W~ 

qHE¤ q²¾cEWfphW HrWp OpVp MphrYp h±, qBgYy dBr Y} Hpc²¾ 

qd§I} & 5 

20. \d±gzRp Yr g¥cM²¾p Yp ecV²¾ Hc} & Jc_eWr `²¾®Ir `pYp qeM 

qBgYr `hWWp Yp ecV²¾ Hc} & 5 
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21. OpWr EY_e²¾ (g\rqgByf²¾) Hr h± ? OpWr EY_e²¾ Yy dBr 

Ot¥`yepc h} gHV epdy qHgy Mpc HpcHp£ Yr gvMr ^VpG & qB²¾p£ 

Mpcp£ qeM~ qHhmp ge±\cpJW \¡qYAp£ Yy OpWr EY_e²¾ qeM qh§gp 

²¾hs \p gHYp AWy qHE¤ ? 5 

22. (a) J}dpHpc Yc\Vp£ Yy g¥Yc_ qeM hyS¾ qdqIAp£ \Yp£ Yr 

\qc_pfp qYG : 

(i) Zcte 

(ii) eHcWp HzYc 

(iii) `t§I Ztcp 

(iv) ³}Hg Yvcr 

(b) 5 g±.`r. d¥^pBr Yp H}Br q^¥^ 20 g±.`r. ³}Hg Yvcr Yy qHgy 

AeWd Yc\V Yy gp`ªVy 30 g±.`r. Yvcr E\c gqXW h± & 

^V²¾ epdy \oqWq^¥^ Yr gqXWr AWy gpBrk \Wp Hc} & 5 

23. (a) \oHpf Yy A\ecW²¾ Yy q²¾a` qd§I} & qHgy `pqZA` Yy 

q²¾c\yI A\ecW²¾ A¥H ²¥¾v \oHpf Yr Mpd Yy \Yp£ qeM 

Aq_qeaHW Hc} & 

(b) H§M AWy Od (\pVr) Yy q²¾c\yI A\ecW²¾ A¥H Hc`epc 
2

3  

AWy 
3

4  h²¾ & OyHc H§M qeM \oHpf Yr Mpd 2  108 m/s h±, 

Wp£ (i) q²¾cepav, AWy (ii) Od qeM \oHpf Yr Mpd \Wp  

Hc} &  5 
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24. (a) `²¾®Ir A§I Yy hyS¾ qd§Iy _pJp£ Yy H¥̀  qd§I} : 

(i) Hp§c²¾rAp 

(ii) \tWdr 

(iii) A§I Yp d±¨²¾k 

(iv) cyqR²¾p 

(b) qHgy dmHy Yr A±²¾H qeM + 2 m ³}Hg Yvcr Yy d±¨²¾k 

E\a}J HrWy JBy h²¾ & Eh dmHp qHg \oHpc Yy qYofRr Y}f 

W~ YtIr h± ? qBg Y}f Yy Y} `tI Hpc²¾p£ Yr gvMr ^VpG & 

qBg dmHy Yr A±²¾H qeM ecW~ qeM qBgWy`pd HrWy JBy 

d±¨²¾kp Yr fHWr Yp q²¾cZpc²¾ Hc} & 5 

 

 

_pJ ^ 

25. gp^tV ^²¾pEV Yy dBr Wtgs hyS¾ qdqIAp£ qeM~ qHg Yp E\a}J 

Hc}Jy ? 1 

(A) qc¥Tr Yp Wyd (H±gRc ApqBd) AWy NaOH 

(B) qc¥Tr Yp Wyd AWy Ca(OH)2 

(C) IqVO Wyd (mineral oil) AWy NaOH 

(D) Wpc\r²¾ Yp Wyd AWy KOH 
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26. gp^tV ^²¾pEV eHW Wtgs qBg qHqcAp Yy q`fcV qeM g}TrA` 

Hd}cpBrT Yr HtP `pWcp qHE¤ q`dp£Yy h} ? 1 

(A) gp^tV ²¥¾v EYpgr²¾ (q²¾c\I) ^²¾pEV Yy dBr 

(B) gp^tV Yr Ipc \cqecWr ²¥¾v KRpEV Yy dBr 

(C) gp^tV Yr HepdRr qeM gtZpc qdApEV Yy dBr 

(D) gp^tV Yy WdNR \vcr Wcp£ Xdy q^S¾pEV Yy dBr 

27. hyS¾ qdqIAp£ qeM~ deVp£ Yy Eg g`vh ²¥¾v MtV} qOgYy qHgy er `|^c 

²¥¾v, OyHc gp³ (qTgqRdT) Od qeM K}qdAp OpBy, Wp£ Od HS}¾c 

^V gHYp h± : 1 

(A) CaSO4, K2SO4, Na2SO4  

(B) CaCl2, NaCl, MgCl2 

(C) CaCl2, MgCl2, CaSO4 

(D) NaCl, NaHCO3, CaSO4 

28. qHgy qeqYApcXr ²y¾ HtN Y} \Wcr ^rOp£ ²¥¾v cpW_c q_J} Hy \t¥Jc²¾¾ 

Yy dBr cIVp h± & hyS¾ qY§Wy JBy ^rOp£ Yy g`vh qeM} Eg ²¥¾v 

qHhmp MtV²¾p MphrYp h± ? 1 

(A) `Rc/`HBr/HVH 

(B) HVH/cpO`p£h/`¥vJ³dr 

(C) HVH/cpO`p£h/`HBr  

(D) `Rc/cpO`p£h/`v¥J³dr 
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29. e§I} eI Orep£ Yy AJdy A¥Jp£ (E\p£Jp£) AWy \¥Ip£ ^pcy g}M} AWy 

hyS¾ qd§Iy Orep£ qeM~ g`OpW g¥cM²¾pep£ Yp g`vh MtV} : 1 

(A) H^vWc Yy \¥I AWy qWWdr Yy \¥I 

(B) Jp£ Yy `vhcdy \±c AWy qN\Hdr Yy `vhcdy \±c 

(C) \¥Nr Yy \¥I AWy M`JpYm Yy \¥I 

(D) qWWdr Yy \¥I AWy M`JpYm Yy \¥I 

 

30. qYWy h}By AeWd Yc\V Yr ³}Hg Yvcr Yp dJ_J `p²¾ q²¾cZpcW 

Hc²¾ Yy dBr Wtgr `yk E\c c§Ir h}Br ^dYr h}Br `}`^§Wr Yr 

dpR ²¥¾v ³}Hg HrWp AWy ³}Hg Yvcr Yp h}c q^hWc `p²¾ \op\W 

Hc²¾ Yy dBr MmªYy gvcO YrAp£ qImHr W} \oeyf HcYr g`p£Wc 

qHc²¾p£ ²¥¾v Eg hr \oa}qJH qeegXp qeM ³}Hg Hc²¾p Mpht¥Yy h}, Wp£ 

Wthp²¥¾v qIgHpVp \ByJp 1 

(A) \cYy ²¥¾v gvcO Yy ed 

(B) Yc\V ²¥¾v \cYy Yy ed 

(C) Yc\V ²¥¾v \cYy W~ Yvc 

(D) gpcr \oa}qJH qeegXp ²¥¾v qImHr Yy ed 
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31. OyHc Wtgs qHgy E¨Wd d±¨²¾k Yr ecW~ HcHy qHgy ^htW Yvc Imy 

q^¥^ Yp q^¥Yv gpBrk Yp \oqWq^¥^ g³yY \cYy E\c \op\W Hc 

qdAp h±, Wp£ qBg d±¨²¾k Yr dJ_J ³}Hg Yvcr \Wp Hc²¾ Yy dBr 

Wthp²¥¾v `p\Vp MphrYp h± 1 

(A) qgc³ d±¨²¾k AWy \cYy Yy qeMdr Yvcr 

(B) qgc³ d±¨²¾k AWy q^¥^ Yy qeMdr Yvcr 

(C) qgc³ q^¥^ AWy \cYy E\c qBg Yy \oqWq^¥^ Yy qeMdr Yvcr 

(D) d±¨²¾k AWy q^¥^ Yy qeMdr Yvcr Yy ²¾pd hr q^¥^ AWy EgYy 

\oqWq^¥^ Yy qeMdr Yvcr er 

32. qHgy qeqYApcXr ²y¾ H}V  i = 40 Yy dBr qHgy HM Yy gd±^ qeM~ 

Jtkc²¾ epdr \oHpf qHc²¾ Yp cgWp EdrqHAp h± & OyHc Eg²y¾ 

WcrHy A²¾®gpc gpcrAp£ Ocvcr gpeZp²¾rAp£ Yp qZAp²¾ cIYy h}By 

qBg \oa}J ²¥¾v HrWp h±, Wp£ Eg cphs `p\y JBy  r AWy  e Yy 

`p²¾ dJ_J qBg Wcªp£ h}Vy MphrYy h²¾ 1 

(A)  r = 30;  e = 40 

(B)  r = 24;  e = 36 

(C)  r = 24;  e = 40 

(D)  r = 40;  e = 26 
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33. H§M Yy q\ok` qeM} Jtkc²¾ epdrAp£ qHgy \oHpf qHc²¾ Yy Ap\W²¾ 

H}Vp£ ( i) Yy Mpc e§I} e§I `p²¾p£ Yy dBr \X EdrHV W~ q\§N} hc 

qBH qHc²¾ qM§Wc Yp qefdyfV HcHy hyS¾ qYWy ²¾WrMy HUy JBy : 1 

I. q\ok` qeM YpId h}V Wy qHc²¾ ApZpc ed PtHYr h± & 

II. q\ok` qeM~ q²¾cJW ht¥Yy g`z qHc²¾ q³c AZpc Yy ed PtHYr 

h± & 

III. q²¾cJW qHc²¾ Ap\qWW qHc²¾ Yr qYfp W~ qHgy H}V ed 

PtHYr h± & 

ghr ²¾WrOy h²¾  

(A) Hyed I AWy II 

(B) Hyed II AWy III 

(C) Hyed I AWy III 

(D) I, II AWy III 

34. OY~ Wtgs qHgy \cI²¾dr qeM g}TrA` ^pBrHpc^}²y¾R Yp \pFTc d± 

Hy Eg qeM HtP ^v¥Yp£ hdHy ByqgqRH A±qgT YrAp£ \pE¤Yy h} Wp£ Hr 

q²¾crIV Hc}Jy ? ^V²¾ epdy deV Yp ²¾p` AWy gvWc qd§I} & 2 

35. Wthp²¾¯¥ argR qeM ^qT¥J (`tHtd²¾) ²¥¾v YcgpV epdr gXpBr 

gdpqBT qYWr JBr h± & `pBrn}gH}\ ²¥¾v ³}HqgW Hc²¾ Yy e§I} eI 

HY`p£ Yr ghr WcWr^ qd§I} Wp£ gdpqBT Yp g\fR cv\ ²¾pd \oyIV 

HrWp Op gHy & 2 
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36. H}Br qeqYApcXr `}`^Wr Yr dpR ²¥¾v qHgy E¨Wd d±¨²¾k Yy `tI 

³}Hg W~ Yvc Yy ed h¡dr h¡dr qIgHp£Yp h± AWy d±¨²¾k ²¥¾v gqXc 

cIYy h}By hc epc dpR Yy \oqWq^¥^ ²¥¾v \cYy E\c ³}HqgW HcYp  

h± & 

(A) \oqWq^¥^ ²¥¾v ³}HqgW Hc²¾ Yy dBr Eh \cYy ²¥¾v qHgy \pgy 

qIgHp£Yp h± – d±¨²¾k ed Op£ d±¨²¾k W~ Yvc ? 

(B) \oqWq^¥^ Yy gpBrk Yp Hr ht¥Yp h± – qBh eZYp h± Op£ KRYp 

h± ? 

(C) \oqWq^¥^ Yy qW§Iy\²¾ Yp Hr ht¥Yp h± – qBh eZYr h± Op£ KRYr 

h± ?  2 

      


